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| _Integer Addition and Subtraction (B) _-

90 + (-77) = 85-26= 52-0=
(-46) - 69 = 0+(3)= (-61) - (-12) =
(-25) - (-70) = 8 - (-98) = 66 -76 =

(-6) - (-83) = 14+ (-19) = 85 -(-16) =
18 + (-68) = 82 - 18 = 05-45=
(-86) + 71 = 04 + 12 = 10-5=
(-82) - (-38) = 53+ 12 = (-66) - (-38) =
(-81)+70 = (-81)+99 = 55-(-18) =
(-16) + (-38) = (-59)+8 = (-31)-52=
49 - (31 = 77 - (-23) = (-24) - (-41) =
89 - 60 = 53+ (-73) = (-84)+75 =
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11x7=

(~11) x (=11) =

2x12=

~ Multiplying Integers (A)

Find each product.

Tx3= 6 x (—10) =

11x11 = 2 B4 Br=

Ox 8= (-1)x10=

(—11)x2= 12%x3=

I x (--6) = (~11)x 4=

§ x 4= (-3)x 12=

(4 x1= (—4)x 7=

(1) x(=10)=  1x(-12)=

Ix1= (~3)x 8 =
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